——
?’% @ i Moltiplica i decimali per potenze di dieci

Nome: Data: Punteggio:
8,286 x 10 = 9,887 x 10 =
8, 863 x 1000000 = 9,169 x 10000 =
7,833 x 1000000 = 4,727 % 1000 =
3,006 x 1000 = 9,338 x 1000000 =
10, 488 x 100000 = 3,295 x 10 =
1,902 x 100 = 7,373 x 100000 =
10, 439 x 1000 = 2,744 x 100 =
2,553 x 100000 = 9, 155 x 100000 =
6, 564 x 10000 = 3,084 x 10000 =
6,863 x 10 = 4,81 x 10000 =
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e @ i Moltiplica i decimali per potenze di dieci

Nome: Data: Punteggio:
8,286 x 10 = 82.86 9,887 x 10 = 98.87
8, 863 x 1000000 = 8863000 9, 169 x 10000 = 91690
7,833 x 1000000 = 7833000 4,727 x 1000 = 4727
3,006 x 1000 = 3006 9, 338 x 1000000 = 9338000
10, 488 x 100000 = 1048800 3,295 x 10 =32.95
1,902 x 100 = 190.2 7,373 x 100000 = 737300
10, 439 x 1000 = 10439 2,744 x 100 =274 .4
2,553 x 100000 = 255300 9, 155 x 100000 = 915500
6, 564 x 10000 = 65640 3,084 x 10000 = 30840
6,863 x 10 = 68.63 4,81 x 10000 = 48100
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